
ESTRUCTURA : GRUPO MANUBRIO	
 

GRUPO MANUBRIO 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

                        1 / 3

https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo manubrio99.png


ESTRUCTURA : GRUPO MANUBRIO	
 

Ref. Título Código

1 ESPEJO IZQUIERDO 3-57200

2 ESPEJO DERECHO 3-57100

3 COMANDO DERECHO LLAVES 3-35100

4 COMANDO IZQUIERDO LLAVES 3-35200

5 PUÑO DERECHO 3-47311

6 PUÑO IZQUIERDO 3-47411

7 MANUBRIO 3-47111

8 TORNILLO M10 X 1.25 X 45 3-GB/T16674

9 TOPE DE MANUBRIO 3-47131

10 TUERCA 10 X 1.25 3-GB/T6187.2

11 CABLE DE ACELERADOR 3-46310

12 CABLE DE CEBADOR 3-46330

13 TORNILLO M8 X 38 3-GB/T818

14 TORNILLO M6 X 40 3-GB/T818-2

15 SOPORTE DE PALANCA CEBADOR 3-35922

16 ARANDELA PLANA D. 6EBADOR 3-GB/T848

17 ARANDELA D. 6 3-GB/T862.1

18 PALANCA DE CEBADOR 3-35921

19 ARANDELA 6 3-GB/T97

20 ARANDELA D. 6 3-GB/T93

21 TORNILLO M6 X 8 3-GB/T818-3

22 TORNILLO M5 X 42 3-GB/T818-4

23 TORNILLO M5 X 45 3-GB/T818-5

24 TORNILLO M6 X 16 3-GB/T818-6

25 LOCALIZADOR DE CABLE 3-46363

 

 

 

 

 

 

 

 

 

 

                        2 / 3



ESTRUCTURA : GRUPO MANUBRIO	
 

 

 

 

 

 

 

`

 

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        3 / 3

http://www.tcpdf.org

